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QUESTION 1

Regarding BGP\\'s recognized arbitrary attributes, which of the following descriptions is correct?
A. must be passed between BGP neighbors

B. All BGP routers must be recognized

C. There is no requirement to be present in the Update message, and you can decide whether to add it to the Update
message on a case-by-case basis

D. The BGP router cannot recognize the

Correct Answer: BC

QUESTION 2
Regarding route introduction, the following description is correctly ?( Multiple choice questions).

A. OSPF introduces two types of external routes, with the first type of external route taking precedence over the second
type of external route.

B. Use the default-route imported command in BGP only to introduce default routes that already exist in the local IP
routing table.

C. When ISIS introduces an external route, if you do not specify the route type that is introduced, the Level-1 route is
introduced by default on the L1/2 router

D. When ISIS introduces an external route, if you do not specify the type of route that is introduced, the Level-1 route is
introduced by default on the L1 router .

Correct Answer:. AB

QUESTION 3

As shown in the figure, R1, R2, and R3 run OSPP at the same time and declare their respective ring ports, as described
below is the error.

A. R2, you can use the filter po y export command to filter R3\\'s loopback route

B. R2 you can make Efilter in Area 0 The import command to filter the loopback route for R3 on
C. R1 can make Efilter-policy import filter the loopback route for R3

D. R1, you can use the Make Efilter export command in Area 1 to filter loopback routes for R3

Correct Answer: A

QUESTION 4
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The basic header length of an IPv6 message is a fixed value.
A. TRUE
B. FALSE

Correct Answer: A

QUESTION 5

You want only his telnet stream to be able to access the server (address 1011.100). Then, you add the following ACL to
the routing ring: nule5pemit cp source ny destination 1011.100000destination-porteq 23 rule 110 deny ip source any
destination any Then you apply that ACL to the ingress direction of the router\\'s seial interface. What type of message
is allowed to pass through the router?( Multiple choice questions).

A. A non-sharded, port 21-accessing packet

B. Non-first-sharded messages that use port 23 to access the server\\'s message

C. Non-first-of-sharded messages to access other hosts

D. Non-first-of-its-kind packets that use port 21 to access the server

E. Packet answer for the first sharded or non-sharded, using port 23 to access the server

Correct Answer: BDE
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